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ECONOMICS
Paper : ECO-HE-6026

( International Economics )

( Honours Elective )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer any ten of the following questions :
1x10=10

wFd 2R R e e e
(a) Mention one feature of international
trade.

e qfae b1 CaE SeEs 31 |
(b)) What is international economics?
o HAS 1 2

(c What is meant by comparative cost
differences?

CET® IR AN I 1 @ A2
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(@)

(e)

(9)

(b

)

0
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(2)

Give one essential element of
Heckscher-Ohlin theory of international
trade.

ER-NFE EAgN 9w ©9GR Wbl
RN TAM o |

What is meant by Leontief paradox?
frefoeq size I & 3w 32
How does economies of scale affect

international trade?

tfss feafiioR @emE Tesfos s
ASRIRAS FCF 2

Who developed the technological gap
model of international trade?

HEEeT A AFfERmr Fo wiEh @
TR SRfRe 2

Define multinational enterprise.

IREISF Sraer Sige i |

Give one argument in favour of free
trade.
& As[ e 961 3 fmn |

Mention one objective of trade
restriction.

ey fAgReR b1 S Ed F10 1
( Continued )

(3)

(k) What is political argument for trade
intervention?

Ffafere 2geweR S JRect 752

() What is protection trade?
FIfFe qiiden & 2

(m) Define flexible exchange rate.

“Af{E=e T 7" wige i o

_(n) What is foreign exchange market?

e Rt o= [

(o) State one main feature of European
Monetary System.

AN 1 IFER <1 o LA S |

Answer the following questions in brief (any
five) : 2x5=10

were fra eppTyRd 5y e i (R cie iod)

(a) Write two  subject matters of
international economics.

rEsfes SAIed 101 fREgee s |

(b) What is meant by pattern of trade?
e @l Aew % o1 F9 2
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(c)

(d)

(e)

(g)

(h)

22A/868

(F4)

Distinguish between complete and
incomplete specialization.

Fopf R ey ReRiee® TS 14 ey
9 |

Mention two assumptions of Heckscher-
Ohlin theory of international trade.

ER-WfrR wEEifes M owoR o
YR Sy 41|

What is international product cycle
theory?

ST SATT 5 ©LGCo! 1 7

Is there any relevance of the theory of
comparative cost advantage in a globally
integrated world? Give two arguments.
e e ofS =% AR perers JRE®
I OLOR APIERFS] ST ? 01 I fiay |

What is financial globalization?

R e B2

Mention two causes for the downfall of
Bretton-Woods system.

E5F-BT5 TafS S o1 FR Teay 391 |

( Continued )

(S)

3. Answer any four of the following questions :

5x4=20

woTq 2PARA R e wif¥eE See g

(@)

(b)

(c)

(@

(e)
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What are the reasons for international
trade? Explain.

HREET IR PRI 2 m 401

Explain the reasons which led to the
evolution of international economics as
a distinct branch of economics.

R RE e AT s A 1 B £ (6 S o
AT FHRFPR FRPR TR F0 |

Discuss the validity of Ricardian
comparative costs theory in developing
countries.

TR pre [RFTS'T pEHigEe U OGN
IR 3| HICED I |

Explain the localization theory of
international trade in brief.

EEfoT AMIEIT TR $Ghl BLF WM
9 |

Distinguish between free trade and
protection.

15 e e AREre AR TS 18
fef < |
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(6)

() Explain the meaning of tariff. What are
the main types of tariffs?

TR WY G T T GAF SRR
fof?

(g) Distinguish between tariff barriers and
non-tariff barriers.

wF Ao WE S-uE AT W
N6 fefg 3931 1

(h) In what way is the equilibrium rate of
exchange determined wunder fixed
exchange rate system?

fAdifee =72
4. Answer any four of the following questions :
10x4=40

T i ez i e B T fa

(a) Explain clearly the Ricardian
comparative costs theory of
international trade. 10
Reres wresifess qfiem wrme 7 wed
TSRS AT 4 |

(b) “Factor proportions and factor intensity
provide the basis for export
specialization.” Explain. 10

TR S SR S Ry e
ReAIF3R 36 17?4 <e17 |

. ( Continued )

(7))

(c) Discuss the superiority of Qeckscher—
Ohlin theory over the Ricardian theory
of international trade. State the limita-
tions of Heckscher-Ohlin theory. 5+5=10
Rt SR Re A gRlE (R
SEBR el SCEn W91 IR
TEHR ATRAOPTHZ Ty 41 |

(d) State and explain the technological gap
model of international trade.

e TR AR I OwE S
41 SF 0 7

10

(e) Describe the main stages in the product

10
cycle model.
Teo{ v CEOR To1 TLTR I 1
iffs in a partial
() Analyze the effects of tarifls 6

equilibrium system.
SR ST IS T AN Reeme 741 |

(g) Explain clearly the concept of ol?timt::n
tariff. Establish the relations 13
between elasticity of offer curve .':n+6=10
optimum tariff.

) o A =B IR e TR
o el SIE T WE ARO o

Foe 391 |
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(8)

(h) Compare the effectiveness of tariff and
quota as weapons of trade restrictions. 10

Tftey g wifRen Roe ww e ARE
AR TaER FEERS P 41 1

(i How was equilibrium exchange rate
determined under gold standard? What
were the reasons for the collapse of the
gold standard? 7+3=10

TS ST (e [ 3/ @S
feiRe tafed 2 3T 9% o IRPAR &
H1RET 2

() Discuss the key reasons for the
international financial crisis. What are
the effects of the international financial
crisis? 6+4=10
HEEee Tl %64 ol PR SHCEToAT
1 | EEes ReR 709 FereRR & 2

* %k
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